



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right) + \frac{1}{3} =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{5} = \frac{32}{45}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{3} = \left(-\frac{11}{24}\right)$$

$$\left(\frac{1}{2}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{2}\right) = \frac{107}{216}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{3} = \left(-\frac{13}{75}\right)$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} = \frac{3}{10}$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{33}{50}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{5}\right) = \frac{3}{40}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{2}{5}\right) = \left(-\frac{7}{320}\right)$$

$$\left(-\frac{1}{6}\right) - \left(-\frac{1}{4}\right) = \frac{1}{12}$$

$$\left(\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{161}{216}\right)$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{4} = \frac{233}{500}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{21}{40}\right)$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{3}{16}\right)$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{3}\right) + \frac{1}{3} = \frac{2}{3}$$